ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	15,000	1,000
Receive		
Planted	225,000	40,167

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2008	10/2008	TOKUL CR HATCHERY	15,000	15.0	1,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	100,000	5.0	20,000	JUVENILE	SNOHOMISH CO LAKES		
03/2009	03/2009	40,000	5.0	8,000	JUVENILE	ISLAND CO LAKES		
04/2009	04/2009	20,000	2.0	10,000	JUVENILE	SNOHOMISH CO LAKES		
05/2009	05/2009	65,000	30.0	2,167	JUVENILE	LK STEVENS (SNOH)		

Memo:

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CUTTHROAT

Run: RESIDENT COASTAL
Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	25,000	56

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2008	08/2008	25,000	450.0	56	JUVENILE	REG 4 LAKES		

Memo: Planted into Alpine Lakes.

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	60,000	120

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
07/2009	07/2009	60.000	500.0	120	JUVENILE	REG 4 LAKES		

Memo: Planted into multi-county Alpine Lakes.

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	55,000	1,583
Receive	430,000	350
Planted	275,000	40,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	12/2008	GOLDENDALE HATCHERY	360,000			EGGS EYED
Received	01/2009	01/2009	LAKEWOOD HATCHERY	70,000	200.0	350	JUVENILE
Shipped	06/2009	06/2009	WHITEHORSE POND	20,000	60.0	333	JUVENILE
Shipped	06/2009	06/2009	BAKER SP BEACHES 3+4	20,000	80.0	250	JUVENILE
Shipped	10/2009	10/2009	TOKUL CR HATCHERY	15,000	15.0	1,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	50,000	100.0	500	JUVENILE	SNOHOMISH CO LAKES		
03/2010	03/2010	100,000	5.0	20,000	JUVENILE	SNOHOMISH CO LAKES		
03/2010	03/2010	40,000	5.0	8,000	JUVENILE	ISLAND CO LAKES		
04/2010	04/2010	20,000	2.0	10,000	JUVENILE	SNOHOMISH CO LAKES		
05/2010	05/2010	65,000	30.0	2,167	JUVENILE	LK STEVENS (SNOH)		

Memo:

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: CUTTHROAT

Run: RESIDENT COASTAL
Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	23,500	85
Receive	180,000	
Planted	125,000	556

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	EELLS SPRINGS	40,000			EGGS GREEN
Received	01/2009	01/2009	EELLS SPRINGS	140,000			EGGS EYED
Shipped	05/2009	05/2009	WALLACE R HATCHERY	20,000	250.0	80	JUVENILE
Shipped	07/2009	07/2009	TOKUL CR HATCHERY	3,500	700.0	5	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	70,000	200.0	350	JUVENILE	SNOHOMISH CO LAKES		
05/2009	05/2009	10,000	200.0	50	JUVENILE	SKAGIT CO LAKES		
05/2009	05/2009	20,000	200.0	100	JUVENILE	ISLAND CO LAKES		
08/2009	08/2009	25,000	450.0	56	JUVENILE	REG 4 LAKES		

Memo: Planted into Alpine Lakes.

ARLINGTON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds	
Egg Take			
Shipping	10,000	10	
Receive	75,000		
Planted	60,000	120	

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2009	02/2009	EELLS SPRINGS	75,000			EGGS GREEN
Shipped	06/2009	06/2009	TOKUL CR HATCHERY	10,000	1,000.0	10	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
07/2010	07/2010	60,000	500.0	120	JUVENILE	REG 4 LAKES		

Memo: Planted into multi-county Alpine Lakes.

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: BAKER R 03.0435

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	48,992	1,814

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type Tagged
06/2009	06/2009	5,130	28.0	183	JUVENILE	LK SHANNON (SKAG)	AD+FB(^)
06/2009	06/2009	5,117	32.0	160	JUVENILE	BAKER LK (WHAT)	AD+FB(^)
06/2009	06/2009	3,745	30.0	125	JUVENILE	BAKER LK (WHAT)	AD+PT
06/2009	06/2009	35,000	26.0	1,346	JUVENILE	SKAGIT R 03.0176	\Box

Memo: Release number to be determined by the Baker Committee.

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	19,000	9,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	19.000	2.0	9,500	JUVENILE	BAKER LK (WHAT)		

Memo: Planted into Baker Lakes by Puget Sound Energy.

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BAKER R 03.0435

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	60,000	
Shipping		
Receive		
Planted	58,992	2,199

Estimated Brood Data

Egg Take Goal 60,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type Tagged
06/2010	06/2010	5,130	28.0	183	JUVENILE	LK SHANNON (SKAG)	AD+FB(^)
06/2010	06/2010	5,117	32.0	160	JUVENILE	BAKER LK (WHAT)	AD+FB(^)
06/2010	06/2010	3,745	30.0	125	JUVENILE	BAKER LK (WHAT)	AD+PT
06/2010	06/2010	45,000	26.0	1,731	JUVENILE	SKAGIT R 03.0176	$^{ m AD}$

Memo: Release number to be determined by the Baker Committee.

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	20,000	250
Planted	19,000	9,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	06/2009	06/2009	ARLINGTON HATCHERY	20,000	80.0	250 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	19.000	2.0	9.500	JUVENILE	BAKER LK (WHAT)		

Memo: Planted into Baker Lakes by Puget Sound Energy.

BAKER SP BEACHES 3+4

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: SOCKEYE

Run: NA

Stock: BAKER R 03.0435

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	2,794,000	
Shipping		
Receive		
Planted	2,540,000	3,250

Estimated Brood Data

Egg Take Goal 2,794,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	05/2009	300,000	2,000.0	150	JUVENILE	LK SHANNON (SKAG)		
03/2009	05/2009	1,500,000	2,000.0	750	JUVENILE	BAKER LK (WHAT)		
03/2009	05/2009	700,000	2,000.0	350	JUVENILE	BAKER LK (WHAT)		
06/2010	06/2010	40,000	20.0	2,000	JUVENILE	BAKER LK (WHAT)		

Memo: Release numbers at the discretion of Baker Lake Committee.

BALLARD SALMON CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	30,000	1,200
Planted	30,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	30,000	15.0	2.000	JUVENILE	SHILSHOLE BAY N-PENS	AD	

- 1	/	01	m	0	
		e	m		

BALLARD SALMON CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	30,000	1,200
Planted	30,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	30,000	15.0	2.000	JUVENILE	SHILSHOLE BAY N-PENS	AD	

BELLINGHAM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	72,000	32,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	-----------------	----------	--------	-----	-------------------------

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2008	09/2008	10,000	6.0	1,667	JUVENILE	CASCADE LK (SAN)		
03/2009	05/2009	12,000	2.0	6,000	JUVENILE	SAN JUAN CO LAKES		
03/2009	06/2009	50,000	2.0	25,000	JUVENILE	SKAGIT CO LAKES		

Memo: Fish released at 1.5 - 3 fpp.

BELLINGHAM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	330,000	165
Receive	330,000	
Planted		

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	LK WHATCOM HATCHERY	330,000			EGGS EYED
Shipped	05/2009	05/2009	KENDALL CR HATCHERY	330,000	2,000.0	165	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Duit	Liiu Dute	1 tuili iteleuse		I otal I otalia	Life Stage	itelease site	want Type	145504

BELLINGHAM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	120,000	400
Planted	102,000	33,067

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2008	12/2008	KENDALL CR HATCHERY	120,000	300.0	400 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	30,000	75.0	400	JUVENILE	WHATCOM CO LAKES		
09/2009	09/2009	10,000	6.0	1,667	JUVENILE	CASCADE LK (SAN)		
03/2010	05/2010	12,000	2.0	6,000	JUVENILE	SAN JUAN CO LAKES		
03/2010	06/2010	50,000	2.0	25,000	JUVENILE	SKAGIT CO LAKES		

Memo: Fish released at 1.5 - 3 fpp.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2007

Species: CHINOOK

Run: SPRING

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	40,000	8,000

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	-----------------	----------	--------	-----	-------------------------

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	40,000	5.0	8.000	JUVENILE	TULALIP BAY	AD	✓

SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD. MAY BE REINSTATED IN FUTURE.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Total # Total Pounds

Egg Take
Shipping
Receive
Planted 1,000,000 55,556

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	200,000	18.0	11,111	JUVENILE	TULALIP BAY	OT	
06/2009	06/2009	750,000	18.0	41,667	JUVENILE	TULALIP BAY	ADOT	
06/2009	06/2009	50,000	18.0	2,778	JUVENILE	TULALIP BAY	ADOT	✓

Memo:

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	200,000	
Planted	200,000	3,077

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	200,000	65.0	3.077	JUVENILE	TULALIP BAY		

Memo: FA CK PROGRAM SUSPENDED BEGINNING WITH 2004 BROOD. MAY BE REINSTATED IN FUTURE.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: SPRING

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	50,000	
Planted	40,000	8,000

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2008	09/2008	MARBLEMOUNT HATCHERY	50,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	40,000	5.0	8.000	JUVENILE	TULALIP BAY	AD	✓

SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD. MAY BE REINSTATED IN FUTURE.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: SUMMER

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	2,500	17
Receive	2,400,000	
Planted	1,700,000	21,250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2009	07/2009	WSU RESEARCH (PULLMAN)	2,500	150.0	17	JUVENILE
Received	09/2009	09/2009	WALLACE R HATCHERY	2,400,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	340,000	80.0	4,250	JUVENILE	TULALIP BAY	ОТ	
05/2009	05/2009	1,260,000	80.0	15,750	JUVENILE	TULALIP BAY	ADOT	
05/2009	05/2009	100,000	80.0	1,250	JUVENILE	TULALIP BAY	ADOT	✓

Memo:

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: TULALIP BAY

Brood Origin: HATCHERY

Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take	8,800,000	
Shipping	2,500	6
Receive		
Planted	8,000,000	17,778

Estimated Brood Data

Egg Take Goal 8,800,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2009	07/2009	WSU RESEARCH (PULLMAN)	2,500	400.0	6	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	8,000,000	450.0	17,778	JUVENILE	TULALIP BAY		

Memo: 100% Genetic Marked.

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	2,500	17
Receive	1,600,000	
Planted	1,000,000	55,556

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	WALLACE R HATCHERY	1,600,000			EGGS GREEN
Shipped	04/2009	07/2009	WSU RESEARCH (PULLMAN)	2,500	150.0	17	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	200,000	18.0	11,111	JUVENILE	TULALIP BAY	OT	
06/2010	06/2010	750,000	18.0	41,667	JUVENILE	TULALIP BAY	ADOT	
06/2010	06/2010	50,000	18.0	2,778	JUVENILE	TULALIP BAY	ADOT	✓

Memo:

BERNIE GOBIN HATCH

TUALAIP TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CUTTHROAT

Run: RESIDENT COASTAL

Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	2,000	100
Planted	2,000	111

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2008	12/2008	WALLACE R HATCHERY	2,000	20.0	100 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	2,000	18.0	111	JUVENILE	TRIBAL COOP		

1	V	len	าก

BROOK BAY PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	25,000	
Planted	25,000	250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	25,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	25,000	100.0	250	JUVENILE	LK WASHINGTON (KING)		

1	\/	ſρr	nΛ

CARKEEK WATERSHED

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: COWLING CR 15.0298

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	70,000	100
Planted	70,000	175

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage	
Received	02/2009	02/2009	GROVERS CR HATCHERY	70,000	700.0	100 JUVENILE	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	70,000	400.0	175	JUVENILE	PIPERS CR 08.0020		

CEDAR RIVER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: SOCKEYE

Run: NA

Stock: CEDAR R 08.0299

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

 Total #
 Total Pounds

 Egg Take
 18,700,000

 Shipping
 Receive

 Planted
 17,000,000
 8,500

Estimated Brood Data

Egg Take Goal 18,700,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
01/2009	04/2009	17.000.000	2,000.0	8,500	JUVENILE	CEDAR R 08.0299	OT	

CITY OF TUKWILA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	80,000	
Planted	80,000	53

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	80,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	60,000	1,500.0	40	JUVENILE	RIVERTON CR 09.0003		
03/2009	03/2009	20,000	1,500.0	13	JUVENILE	SOUTHGATE CR 09?		

Memo: Some scatter planting of fry above RSI will occur.

CRISP CR REARING PON

MUCKLESHOOT TRIBE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	400,000	20,000
Receive	800,000	10,000
Planted	200,000	13,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2008	08/2008	SOOS CREEK HATCHERY	800,000	80.0	10,000	JUVENILE
Shipped	03/2009	03/2009	ELLIOTT BAY TRIBAL NP	400,000	20.0	20,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	200,000	15.0	13.333	JUVENILE	CRISP CR 09.0113	AD	

Memo: Currently funded for only 600,000 fish.

CRISP CR REARING PON

MUCKLESHOOT TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	400,000	20,000
Receive	800,000	10,000
Planted	200,000	13,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2009	08/2009	SOOS CREEK HATCHERY	800,000	80.0	10,000	JUVENILE
Shipped	03/2010	03/2010	ELLIOTT BAY TRIBAL NP	400,000	20.0	20,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	200,000	15.0	13.333	JUVENILE	CRISP CR 09.0113	AD	

Memo: Currently funded for only 600,000 fish.

DENNY CR PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	5,000	
Planted	5,000	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	5,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	5,000	1.500.0	3	JUVENILE	DENNY CR 08.0228		

Memo: Remote Site Incubator Project.

ELLIOTT BAY TRIBAL NP

MUCKLESHOOT / SUQUAMISH

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	400,000	20,000
Planted	395,000	39,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	03/2009	CRISP CR REARING PON	400,000	20.0	20,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	395,000	10.0	39,500	JUVENILE	ELLIOTT BAY 10A	AD	

Memo: Joint Muckleshoot/Suquamish Tribe Project.

ELLIOTT BAY TRIBAL NP

MUCKLESHOOT / SUQUAMISH

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	400,000	20,000
Planted	395,000	39,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	CRISP CR REARING PON	400,000	20.0	20,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	395,000	10.0	39,500	JUVENILE	ELLIOTT BAY 10A	AD	

Memo: Joint Muckleshoot/Suquamish Tribe Project.

FERNDALE HS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	20,000	
Planted	20,000	40

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	KENDALL CR HATCHERY	20,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	20,000	500.0	40	JUVENILE	DEER CR 01.0165		

FLAMING GEYSER PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	15,000	1,500
Planted	15,000	3,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	03/2009	SOOS CREEK HATCHERY	15,000	10.0	1,500 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	15.000	5.0	3.000	JUVENILE	GREEN R TRIB 09.0038	AD	

FLAMING GEYSER PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD **Run:** WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	15,000	1,500
Planted	15,000	3,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2010	03/2010	SOOS CREEK HATCHERY	15,000	10.0	1,500 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	15,000	5.0	3,000	JUVENILE	GREEN R TRIB 09.0038	AD	

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: GLENWOOD SPRINGS

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	100,000	6,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	100,000	15.0	6,667	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: Kendall Creek used to make up difference in low years at Glenwood.

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: GLENWOOD SPRINGS

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

 Total #
 Total Pounds

 Egg Take
 590,000

 Shipping
 1,000

 Receive
 Planted

 550,000
 6,875

Estimated Brood Data

Egg Take Goal 590,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2009	01/2009	REG 4 ED COOPS	1,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	550,000	80.0	6,875	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: No yearling program. Backfull with Samish in low years.

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: SAMISH (FRIDAY CR)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Egg Take
Shipping
Receive 270,000
Planted

Total Pounds

Total #

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	SAMISH HATCHERY	270,000			EGGS EYED

Estimated Release Data

Start Date End	d Date Num Rel	ease FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
----------------	----------------	----------	--------------------	------------	--------------	-----------	--------

Project under the Recreational Fishery Enhancement Account under contract with Long Live the Kings.

GLENWOOD SPRINGS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: GLENWOOD SPRINGS

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	140,000	
Shipping		
Receive		
Planted	100,000	6,667

Estimated Brood Data

Egg Take Goal 140,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	100.000	15.0	6.667	JUVENILE	EAST SOUND BAY (SAN)	AD	

Memo: Kendall Creek used to make up difference in low years at Glenwood.

HALLS LAKE PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	30,000	
Planted	30,000	20

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	30,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2008	03/2008	30,000	1,500.0	20	JUVENILE	HALL LK (SNOH)		

Memo: Remote Site Incubator Project.

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: CHINOOK

Run: FALL

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	300,000	30,000

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	-----------------	----------	--------	-----	-------------------------

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	200,000	10.0	20,000	JUVENILE	ICY CR 09.0125	AD	
04/2009	04/2009	100,000	10.0	10,000	JUVENILE	ICY CR 09.0125	AD	✓

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	320,000	3,200
Planted	300,000	30,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	04/2009	04/2009	SOOS CREEK HATCHERY	320,000	100.0	3,200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	200,000	10.0	20,000	JUVENILE	ICY CR 09.0125	AD	
04/2010	04/2010	100,000	10.0	10,000	JUVENILE	ICY CR 09.0125	AD	\checkmark

Memo:

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	25,000	2,083
Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2008	12/2008	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	20,000	5.5	3,636	JUVENILE	ICY CR 09.0125	AD	

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	25,000	2,083
Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2008	12/2008	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	20,000	5.5	3.636	JUVENILE	ICY CR 09.0125	AD	

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD **Run:** SUMMER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	25,000	2,083
Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2009	12/2009	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	20,000	5.5	3.636	JUVENILE	ICY CR 09.0125	AD	

ICY CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	25,000	2,083
Planted	20,000	3,636

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	12/2009	12/2009	SOOS CREEK HATCHERY	25,000	12.0	2,083 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	20.000	5.5	3,636	JUVENILE	ICY CR 09.0125	AD	

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	60,000	2,400
Receive		
Planted	450,000	26,471

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2009	01/2009	BALLARD SALMON CLUB	30,000	25.0	1,200	JUVENILE
Shipped	01/2009	01/2009	NWSSC - LAEBUGTEN	30,000	25.0	1,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	450,000	17.0	26,471	JUVENILE	ISSAQUAH CR 08.0178	AD	

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	2,500	2,500

Page 49

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	2,500	1.0	2.500	JUVENILE	BEAVER LKS (KING) T24		

1	V	len	าก

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	2,425,000	
Shipping	3,750	
Receive		
Planted	2,000,000	25,000

Estimated Brood Data

Egg Take Goal 2,425,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2008	11/2008	REG 4 ED COOPS	3,750			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	1,800,000	80.0	22,500	JUVENILE	ISSAQUAH CR 08.0178	AD	
05/2009	06/2009	200,000	80.0	2,500	JUVENILE	ISSAQUAH CR 08.0178	AD	✓

Memo: On-station release.

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008
Species: COHO
Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	1,200,000	
Shipping	511,700	2,400
Receive		
Planted	450,000	26,471

Estimated Brood Data

Egg Take Goal 1,200,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2009	01/2009	KENT SD	1,000			EGGS EYED
Shipped	01/2009	01/2009	BROOK BAY PROJECT	25,000			EGGS EYED
Shipped	01/2009	01/2009	HALLS LAKE PROJECT	30,000			EGGS EYED
Shipped	01/2009	01/2009	DENNY CR PROJECT	5,000			EGGS EYED
Shipped	01/2009	01/2009	NWSSC - LAEBUGTEN	80,000			EGGS EYED
Shipped	01/2009	01/2009	LIVELY ENV. CTR	20,000			EGGS EYED
Shipped	01/2009	01/2009	JORDAN PROJECT -RSI	5,000			EGGS EYED
Shipped	01/2009	01/2009	MCALEER CR PROJECT	70,000			EGGS EYED
Shipped	01/2009	01/2009	ROGER URBANIAK PROJECT	205,000			EGGS EYED
Shipped	01/2009	01/2009	REG 4 ED COOPS	10,700			EGGS EYED
Shipped	11/2009	11/2009	NWSSC - LAEBUGTEN	30,000	25.0	1,200	JUVENILE
Shipped	01/2010	01/2010	BALLARD SALMON CLUB	30,000	25.0	1,200	JUVENILE

Memo:

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	450,000	17.0	26,471	JUVENILE	ISSAQUAH CR 08.0178	AD	

Memo:

ISSAQUAH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	40,000	40
Planted	32,500	10,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	TOKUL CR HATCHERY	40,000	1,000.0	40 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	10,000	4.0	2,500	JUVENILE	BEAVER LKS (KING) T24		
04/2009	04/2009	20,000	4.0	5,000	JUVENILE	PINE LK (KING)		
10/2009	10/2009	2,500	1.0	2,500	JUVENILE	BEAVER LKS (KING) T24		

Memo:

JORDAN PROJECT -RSI

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	5,000	
Planted	5,000	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	5,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	5,000	1.500.0	3	JUVENILE	UNNAMED CR 08.0060		

Memo: Remote Site Incubator Project.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	5,000	200
Receive		
Planted	300,000	17,647

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	02/2009	02/2009	SQUALICUM NET PENS	5,000	25.0	200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	210,000	17.0	12,353	JUVENILE	KENDALL CR 01.0406	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406	AD	✓
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406		✓

Memo: On-station yearling release.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	51,000	25,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	51.000	2.0	25,500	JUVENILE	WHATCOM CO LAKES		

Memo: Eggs & fish must be maintained on pathogen free water until transfer. Release at 1.5-3 fpp.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: BROWN TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	18,000	
Planted	15,840	264

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	12/2008	FORD HATCHERY	18,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	5,280	60.0	88	JUVENILE	CRANBERRY LK (ISLA)		
10/2009	10/2009	5,280	60.0	88	JUVENILE	PASS LK (SKAG)		
10/2009	10/2009	5,280	60.0	88	JUVENILE	LK FAZON (WHAT)		

Memo: Must be held on regulated pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: SAMISH (FRIDAY CR)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	6,500,000	
Receive	550,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	SAMISH HATCHERY	550,000			EGGS EYED
Shipped	11/2009	11/2009	SAMISH HATCHERY	6,500,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Nulli Kelease	rrr	Total Poulla	Lue Stage	Release Site	Mark Type	raggeu

Memo: Held on isolated pathogen free water. Fish will be differentially otolith marked.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: SPRING

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	900,000	
Shipping		
Receive		
Planted	750,000	8,500

Estimated Brood Data

Egg Take Goal 900,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	----------	----------	--------	-----	-------------------------

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	150,000	100.0	1,500	JUVENILE	KENDALL CR 01.0406	AD	
05/2009	05/2009	200,000	100.0	2,000	JUVENILE	NOOKSACK -MF 01.0339	ADOT	
05/2009	05/2009	200,000	80.0	2,500	JUVENILE	NOOKSACK R -NF 01.0120	AD	✓
05/2009	05/2009	200,000	80.0	2,500	JUVENILE	NOOKSACK R -NF 01.0120		\checkmark

Memo: Planted in Nooksack watershed at discretion Co-managers. Middle Fork fish must be held on pathogen free H2O. 100% sample.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: WHATCOM CR 01.0566

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	2,300,000	
Receive	2,500,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	WHATCOM CR HATCHERY	2,500,000			EGGS GREEN
Shipped	02/2009	02/2009	WHATCOM CR HATCHERY	2,300,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Enu Date	Nulli Kelease	rff	Total Foulid	Life Stage	Release Site	Mark Type	raggeu

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	550,000	
Shipping	130,250	200
Receive		
Planted	300,000	17,647

Estimated Brood Data

Egg Take Goal 550,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2008	01/2009	NELSON PROJECT	40,000			EGGS EYED
Shipped	12/2008	01/2009	LYNDEN CHRISTIAN	50,000			EGGS EYED
Shipped	12/2008	01/2009	FERNDALE HS	20,000			EGGS EYED
Shipped	12/2008	01/2009	TOAD CREEK PROJECT	15,000			EGGS EYED
Shipped	12/2008	01/2009	REG 4 ED COOPS	250			EGGS EYED
Shipped	02/2010	02/2010	SQUALICUM NET PENS	5,000	25.0	200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	210,000	17.0	12,353	JUVENILE	KENDALL CR 01.0406	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406	AD	✓
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	KENDALL CR 01.0406		✓

Memo: On-station yearling release.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CUTTHROAT

Run: RESIDENT COASTAL
Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	70,000	875

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	31,500	80.0	394	JUVENILE	WHATCOM CO LAKES		
10/2008	10/2008	19,600	80.0	245	JUVENILE	SKAGIT CO LAKES		
10/2008	10/2008	18,900	80.0	236	JUVENILE	SAN JUAN CO LAKES		

Memo: Eggs & fish must be maintained on pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	385,000	165
Planted	300,000	2,400

Page 63

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	LK WHATCOM HATCHERY	55,000			EGGS EYED
Received	05/2009	05/2009	BELLINGHAM HATCHERY	330,000	2,000.0	165	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	255,000	120.0	2,125	JUVENILE	WHATCOM CO LAKES		
10/2009	10/2009	30,000	200.0	150	JUVENILE	SKAGIT CO LAKES		
10/2009	10/2009	15.000	120.0	125	JUVENILE	SAN JUAN CO LAKES		

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	136,000	5,733
Receive	200,000	
Planted	61,000	25,550

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	01/2009	GOLDENDALE HATCHERY	200,000			EGGS EYED
Shipped	12/2008	12/2008	BELLINGHAM HATCHERY	120,000	300.0	400	JUVENILE
Shipped	10/2009	10/2009	LK WHATCOM HATCHERY	16,000	3.0	5,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	10,000	200.0	50	JUVENILE	PASS LK (SKAG)		
03/2010	03/2010	51,000	2.0	25,500	JUVENILE	WHATCOM CO LAKES		

Memo: Eggs & fish must be maintained on pathogen free water until transfer. Release at 1.5-3 fpp.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	90,000	3,267
Receive	50,000	10,000
Planted	150,000	30,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2008	10/2008	WHATCOM CR HATCHERY	40,000	25.0	1,600	JUVENILE
Shipped	10/2008	10/2008	MCKINNON PD (WHAT)	50,000	30.0	1,667	JUVENILE
Received	04/2009	04/2009	MCKINNON PD (WHAT)	50,000	5.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	150,000	5.0	30,000	JUVENILE	KENDALL CR 01.0406	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	10,000	
Planted	1,000	16

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	FORD HATCHERY	10,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2009	10/2009	1.000	62.0	16	JUVENILE	SOUALICUM LK (WHAT)		

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: CUTTHROAT

Run: RESIDENT COASTAL **Stock:** TOKUL CR 07.0440

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	130,000	
Planted	110,000	975

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	EELLS SPRINGS	130,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	18,000	400.0	45	JUVENILE	WHATCOM CO LAKES		
06/2009	06/2009	11,200	400.0	28	JUVENILE	SKAGIT CO LAKES		
06/2009	06/2009	10,800	400.0	27	JUVENILE	SAN JUAN CO LAKES		
10/2009	10/2009	31,500	80.0	394	JUVENILE	WHATCOM CO LAKES		
10/2009	10/2009	19,600	80.0	245	JUVENILE	SKAGIT CO LAKES		
10/2009	10/2009	18,900	80.0	236	JUVENILE	SAN JUAN CO LAKES		

Memo: Eggs & fish must be maintained on pathogen free water.

KENDALL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	190,000	
Shipping	90,000	3,267
Receive	50,000	10,000
Planted	150,000	30,000

Estimated Brood Data

Egg Take Goal 190,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2009	10/2009	WHATCOM CR HATCHERY	40,000	25.0	1,600	JUVENILE
Shipped	10/2009	10/2009	MCKINNON PD (WHAT)	50,000	30.0	1,667	JUVENILE
Received	04/2010	04/2010	MCKINNON PD (WHAT)	50,000	5.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	150,000	5.0	30,000	JUVENILE	KENDALL CR 01.0406	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

KENT SD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	1,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	1,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Duit	Liiu Dute	I (MIII ILCICUSC		I oui I ouiiu	Line Duage	recease site	man Type	- "55"

KETA CREEK HATCHERY

MUCKLESHOOT TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: COWLING CR 15.0298

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	3,000,000	
Shipping		
Receive	2,000,000	
Planted	2,850,000	7,125

Estimated Brood Data

Egg Take Goal 3,000,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	GROVERS CR HATCHERY	2,000,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	2,850,000	400.0	7.125	JUVENILE	CRISP CR AT KETA CR		

Memo: Backfill from Grovers Creek if needed.

LIVELY ENV. CTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Egg Take
Shipping
Receive 20,000
Planted 20,000 100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	20,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	20.000	200.0	100	JUVENILE	NICKEL CR 08.0077A		

LK WHATCOM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	14,000	7,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	06/2009	14.000	2.0	7.000	JUVENILE	SNOHOMISH CO LAKES		

Memo: Fish must be maintained on pathogen free water until transfer. Release at 1 - 2.5 fpp.

LK WHATCOM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	13,100,000	
Shipping	10,360,000	
Receive		
Planted	3,800,000	950

Estimated Brood Data

Egg Take Goal 13,100,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2009	01/2009	SPOKANE TRIBAL HATCHERY	1,800,000			EGGS EYED
Shipped	01/2009	01/2009	FORD HATCHERY	1,400,000			EGGS EYED
Shipped	01/2009	01/2009	CHELAN HATCHERY	450,000			EGGS EYED
Shipped	01/2009	01/2009	LAKEWOOD HATCHERY	750,000			EGGS EYED
Shipped	01/2009	01/2009	EELLS SPRINGS	325,000			EGGS EYED
Shipped	01/2009	01/2009	BELLINGHAM HATCHERY	330,000			EGGS EYED
Shipped	01/2009	01/2009	KENDALL CR HATCHERY	55,000			EGGS EYED
Shipped	01/2009	01/2009	IDAHO -FISH & GAME	5,000,000			EGGS EYED
Shipped	01/2009	01/2009	CALIF- FISH AND WILDLIFE	250,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	06/2009	3.800.000	4.000.0	950	JUVENILE	LK WHATCOM (WHAT)		

Memo: Portion of Spokane Tribal/Sherman Cr program may be BC stock. 300,000 Triploided. Back fill for Naches Hatchery.

LK WHATCOM HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	16,000	5,333
Planted	14,000	7,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	KENDALL CR HATCHERY	16,000	3.0	5,333 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	06/2010	14.000	2.0	7,000	JUVENILE	SNOHOMISH CO LAKES		

Memo: Fish must be maintained on pathogen free water until transfer. Release at 1 - 2.5 fpp.

LUMMI SEA PONDS

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: LUMMI BAY (SEA POND)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	1,000,000	25,000
Planted	1,000,000	66,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2009	04/2009	SKOOKUM CR HATCHERY	1,000,000	40.0	25,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	950,000	15.0	63,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2009	06/2009	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	\checkmark

Memo:

LUMMI SEA PONDS

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: SAMISH (FRIDAY CR)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	1,000,000	5,000
Planted	1,000,000	10,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	04/2009	SAMISH HATCHERY	1,000,000	200.0	5,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	500,000	100.0	5,000	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
05/2009	05/2009	500,000	100.0	5,000	JUVENILE	LUMMI HATCHERY -POND	AD	

Memo:

LUMMI SEA PONDS

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: LUMMI BAY (SEA POND)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	1,400,000	
Shipping	1,200,000	
Receive	1,000,000	25,000
Planted	1,000,000	66,667

Estimated Brood Data

Egg Take Goal 1,400,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2008	12/2008	SKOOKUM CR HATCHERY	1,200,000			EGGS EYED
Received	04/2010	04/2010	SKOOKUM CR HATCHERY	1,000,000	40.0	25,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	950,000	15.0	63,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	
06/2010	06/2010	50,000	15.0	3,333	JUVENILE	NOOKSACK R+LUMMI BAY	AD	\checkmark

Memo:

LYNDEN CHRISTIAN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	50,000	
Planted	50,000	100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	50,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	50,000	500.0	100	JUVENILE	FISHTRAP CR 01.0210		

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: CHINOOK

Run: SPRING

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	150,000	15,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Simpled of Receive	Duit Duit	Dia Ducc	I welling	1 (dilloci		Total Touries Enc Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	75,000	10.0	7,500	JUVENILE	CLARK CR 03.1421	AD	✓
04/2009	04/2009	75,000	10.0	7,500	JUVENILE	CLARK CR 03.1421		✓

Memo: TULALIP SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD, WILL BE REINSTATED IN FUTURE. Eggs must be 100% sampled and

Tuesday, July 22, 2008

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	130,000	5,200
Receive		
Planted	250,000	14,706

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2009	02/2009	OAK HARBOR NET PENS	30,000	25.0	1,200	JUVENILE
Shipped	02/2009	02/2009	SKAGIT SYSTEM COOP	100,000	25.0	4,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	160,000	17.0	9,412	JUVENILE	CLARK CR 03.1421	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421	AD	✓
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421		✓

Memo:

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	280,000	
Shipping		
Receive		
Planted	222,000	1,480

Estimated Brood Data

Egg Take Goal 280,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	222,000	150.0	1.480	JUVENILE	BAKER R 03.0435	AD	✓

Memo: Adults brought to Marblemount by Skagit System Coop.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: SPRING

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	590,000	
Shipping	50,000	
Receive		
Planted	400,000	18,571

Estimated Brood Data

Egg Take Goal 590,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2008	09/2008	BERNIE GOBIN HATCH	50,000			EGGS EYED

Estimated Release Data

Memo:

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	250,000	70.0	3,571	JUVENILE	CLARK CR 03.1421	AD	✓
04/2010	04/2010	75,000	10.0	7,500	JUVENILE	CLARK CR 03.1421	AD	✓
04/2010	04/2010	75,000	10.0	7.500	JUVENILE	CLARK CR 03.1421		✓

TULALIP SP CK PROGRAM SUSPENDED BEGINNING WITH 2000 BROOD, WILL BE REINSTATED IN FUTURE. Eggs must be 100% sampled and

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK
Run: SUMMER

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	275,000	
Shipping		
Receive		
Planted	200,000	2,667

Estimated Brood Data

Egg Take Goal 275,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Memo:

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	200,000	75.0	2,667	JUVENILE	COUNTY LINE CR3.2363	AD	✓

Adults will be broodstocked from mainstem and brought to the hatchery by Fish Management personnel. No releases from Marblemount Hatchery.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	650,000	
Shipping	132,750	5,200
Receive		
Planted	250,000	14,706

Estimated Brood Data

Egg Take Goal 650,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2009	02/2009	REG 4 ED COOPS	2,750			EGGS EYED
Shipped	02/2010	02/2010	OAK HARBOR NET PENS	30,000	25.0	1,200	JUVENILE
Shipped	02/2010	02/2010	SKAGIT SYSTEM COOP	100,000	25.0	4,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	160,000	17.0	9,412	JUVENILE	CLARK CR 03.1421	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421	AD	<u> </u>
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	CLARK CR 03.1421		✓

Memo:

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Egg Take
Shipping 1,650,000
Receive 1,700,000
Planted

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	WALLACE R HATCHERY	1,700,000			EGGS GREEN
Shipped	01/2009	01/2009	SKOOKUMCHUCK HATCHRY	1,650,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

Memo: Maintained on pathogen-free water.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: ROSS LK STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	250,000	
Shipping		
Receive		
Planted	230,000	1,038

Estimated Brood Data

Egg Take Goal 250,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2008	09/2008	30,000	800.0	38	JUVENILE	SKAGIT CO LAKES		
06/2009	06/2009	50,000	200.0	250	JUVENILE	GORGE LK (WHAT)		
06/2009	06/2009	150,000	200.0	750	JUVENILE	DIABLO LK (WHAT)		

Memo: 150,000 planted above Seattle City Light Skagit hydro-electic projects. 50,000 planted high lakes within Skagit drainage.

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	229,000	45,800

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	229,000	5.0	45.800	JUVENILE	CLARK CR 03.1421	AD	

Exact planting allotments at the discretion of Fish Management and are coordinated with Wildlife Management to minimize eagle interactions. Skagit River pr

MARBLEMOUNT HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	250,000	
Shipping		
Receive		
Planted	229,000	45,800

Estimated Brood Data

Egg Take Goal 250,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Memo:

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	229,000	5.0	45,800	JUVENILE	CLARK CR 03.1421	AD	

Exact planting allotments at the discretion of Fish Management and are coordinated with Wildlife Management to minimize eagle interactions. Skagit River pr

MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: WASHINGTON - GENERAL

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	10,000	909

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	10,000	11.0	909	JUVENILE	DES MOINES C 09.0377	AD	

Memo: Local stock released on-station

MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	5,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	5,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Liiu Date	Tuili ittitast	111	I otal I otilu	Life Burge	itelease site	wark Type	I aggcu

Memo: Backfill if eggtake not met.

MARINE TECH CENTR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: WASHINGTON - GENERAL

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	30,000	
Shipping		
Receive		
Planted	25,000	939

Estimated Brood Data

Egg Take Goal 30,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	15,000	500.0	30	JUVENILE	DES MOINES C 09.0377	AD	
05/2010	05/2010	10,000	11.0	909	JUVENILE	DES MOINES C 09.0377	AD	

Memo: Local stock released on-station

MCALEER CR PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	70,000	
Planted	70,000	47

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	70,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	70,000	1.500.0	47	JUVENILE	MCALEER CR 08.0049		

Memo: Remote Site Incubator Project.

MCKINNON PD (WHAT)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	50,000	10,000
Receive	50,000	1,667
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	KENDALL CR HATCHERY	50,000	30.0	1,667	JUVENILE
Shipped	04/2009	04/2009	KENDALL CR HATCHERY	50,000	5.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Nulli Kelease	rrr	Total Poulla	Lue Stage	Release Site	Mark Type	raggeu

Tuesday, July 22, 2008

MCKINNON PD (WHAT)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	50,000	10,000
Receive	50,000	1,667
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2009	10/2009	KENDALL CR HATCHERY	50,000	30.0	1,667	JUVENILE
Shipped	04/2010	04/2010	KENDALL CR HATCHERY	50,000	5.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	End Date	Nulli Kelease	rrr	i otal r oullu	Life Stage	Release Site	Mark Type	raggeu

Memo:

MORAN STATE PK PROJ

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: KOKANEE

Run: NA

Stock: CASCADE LK (SAN)

Brood Origin: WILD

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	120,000	
Shipping		
Receive		
Planted	100,000	67

Estimated Brood Data

Egg Take Goal 120,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	80,000	1,500.0	53	JUVENILE	CASCADE LK (SAN)		
06/2009	06/2009	20,000	1,500.0	13	JUVENILE	MOUNTAIN LK (SAN)		

Memo: Cooperation with Washington State Parks

NELSON PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	40,000	
Planted	40,000	27

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	40,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	40,000	1.500.0	27	JUVENILE	DEER CR 01.0165		

Memo: RSI projects on Deer & Silver Creeks (Nooksack basin).

NWSSC - DES MOINES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	30,000	1,200
Planted	30,000	2,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	SOOS CREEK HATCHERY	30,000	25.0	1,200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	30,000	15.0	2,000	JUVENILE	DES MOINES NET PENS	AD	

Tuesday, July 22, 2008

NWSSC - DES MOINES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	150,000	1,200
Planted	150,000	2,080

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	120,000			EGGS EYED
Received	02/2010	02/2010	SOOS CREEK HATCHERY	30,000	25.0	1,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	54,000	1,500.0	36	JUVENILE	DES MOINES C 09.0377		
04/2009	04/2009	33,000	1,500.0	22	JUVENILE	MILLER CR 09.0371	AD	
04/2009	04/2009	33,000	1,500.0	22	JUVENILE	MILLER CR 09.0371		
06/2010	06/2010	30,000	15.0	2,000	JUVENILE	DES MOINES NET PENS	AD	

Memo:

NWSSC - LAEBUGTEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	30,000	1,200
Planted	25,000	2,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	30,000	25.0	1,200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	25,000	10.0	2.500	JUVENILE	EDMONDS NET PENS	AD	

Memo: To Laebugten Wharf Net Pens.

NWSSC - LAEBUGTEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	110,000	1,200
Planted	105,000	2,660

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	80,000			EGGS EYED
Received	11/2009	11/2009	ISSAQUAH HATCHERY	30,000	25.0	1,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	65,000	500.0	130	JUVENILE	NORTH CR 08.0070		
04/2009	04/2009	15,000	500.0	30	JUVENILE	SWAMP CR 08.0059		
05/2010	05/2010	25,000	10.0	2,500	JUVENILE	EDMONDS NET PENS	AD	

Memo: To Laebugten Wharf Net Pens.

NWSSC-EVERETT N PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	20,000	800
Planted	20,000	1,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	WALLACE R HATCHERY	20,000	25.0	800 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	20,000	15.0	1.333	JUVENILE	MUKILTEO NET PENS	AD	

Memo:

NWSSC-EVERETT N PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	20,000	800
Planted	20,000	1,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	WALLACE R HATCHERY	20,000	25.0	800 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	20,000	15.0	1.333	JUVENILE	MUKILTEO NET PENS	AD	

Memo:

OAK HARBOR NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	30,000	1,200
Planted	30,000	2,500

Page 103

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	MARBLEMOUNT HATCHERY	30,000	25.0	1,200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

Tuesday, July 22, 2008

OAK HARBOR NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	;	
Shipping		
Receive	30,000	1,200
Planted	30,000	2,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	MARBLEMOUNT HATCHERY	30,000	25.0	1,200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2010	06/2010	30,000	12.0	2,500	JUVENILE	OAK HARBOR NET PENS	AD	

- 1	/	01	m	0	
		e	m		

PALMER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	50,000	1,000
Planted	30,000	6,000

Page 105

Estimated Brood Data

Egg Take Goal

Memo:

Tuesday, July 22, 2008

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP		Life Stage
Received	07/2008	07/2008	SOOS CREEK HATCHERY	50,000	50.0	1,000 J	UVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	30.000	5.0	6.000	JUVENILE	GREEN R 09.0001	AD	

PALMER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD **Run:** WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	230,000	2,300
Planted	150,000	30,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	07/2008	07/2008	SOOS CREEK HATCHERY	230,000	100.0	2,300 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	150,000	5.0	30,000	JUVENILE	GREEN R 09.0001	AD	

Tuesday, July 22, 2008

PALMER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD **Run:** SUMMER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	50,000	1,000
Planted	30,000	6,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	07/2009	07/2009	SOOS CREEK HATCHERY	50,000	50.0	1,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	30,000	5.0	6.000	JUVENILE	GREEN R 09.0001	AD	

1	\/	ſρr	nΛ

PALMER HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	300,000	
Shipping	300,000	
Receive	230,000	2,300
Planted	150,000	30,000

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2009	01/2009	SOOS CREEK HATCHERY	300,000			EGGS GREEN
Received	07/2009	07/2009	SOOS CREEK HATCHERY	230,000	100.0	2,300	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	150.000	5.0	30,000	JUVENILE	GREEN R 09.0001	AD	

Tuesday, July 22, 2008

PORTAGE BAY HATCHERY

SCHOOL OF FISHERIES, UNIVERSITY OF WASHINGTON

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: PORTAGE BAY STOCK UW

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	650,000	
Shipping		
Receive		
Planted	180,000	8,182

Estimated Brood Data

Egg Take Goal 650,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	180,000	22.0	8.182	JUVENILE	PORTAGE BAY/SHIP CNL	AD	

Memo: Anticipated maximum eggtake - fluctuates with research needs.

PORTAGE BAY HATCHERY

SCHOOL OF FISHERIES, UNIVERSITY OF WASHINGTON

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: PORTAGE BAY STOCK UW

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	200,000	
Shipping		
Receive		
Planted	90,000	3,000

Estimated Brood Data

Egg Take Goal 200,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	90,000	30.0	3.000	JUVENILE	PORTAGE BAY/SHIP CNL	AD	

Memo: Anticipated maximum eggtake - fluctuates with research needs.

POSSESSION NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	50,000	2,000
Planted	50,000	3,333

Page 111

Estimated Brood Data

Egg Take Goal

Memo:

Tuesday, July 22, 2008

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2009	01/2009	WALLACE R HATCHERY	50,000	25.0	2,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	50,000	15.0	3.333	JUVENILE	POSSESSION NET PENS	AD	

POSSESSION NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	50,000	2,000
Planted	50,000	3,333

Page 112

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	01/2010	01/2010	WALLACE R HATCHERY	50,000	25.0	2,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	50,000	15.0	3,333	JUVENILE	POSSESSION NET PENS	AD	

Tuesday, July 22, 2008

RED CR HATCHERY

SKAGIT TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	500,000	
Shipping		
Receive		
Planted	450,000	1,000

Estimated Brood Data

Egg Take Goal 500,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	450.000	450.0	1.000	JUVENILE	SKAGIT R 03.0176		

Memo: Released at various sites along the Skagit River.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	2,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	SOOS CREEK HATCHERY	2,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Nulli Kelease	rrr	Total Poulla	Lue Stage	Release Site	Mark Type	raggeu

Memo: To approved list of SIC projects.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: GLENWOOD SPRINGS

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Egg Take
Shipping
Receive 1,000
Planted

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	GLENWOOD SPRINGS	1,000			EGGS EYED

Estimated Release Data

built but but the fam keeds iii italii talid bug keeds bit mark iyp iagga	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
---	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Tuesday, July 22, 2008

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Egg Take
Shipping
Receive 3,750
Planted

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	ISSAQUAH HATCHERY	3,750			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

To approved list of SIC projects. Schools should be provided with instructions and iodophores for disinfecting green eggs.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: SAMISH (FRIDAY CR)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Egg Take
Shipping
Receive 500
Planted

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	SAMISH HATCHERY	500			EGGS EYED

Estimated Release Data

Start Date End	d Date Num Rel	ease FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
----------------	----------------	----------	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: COWLING CR 15.0298

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	20,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	GROVERS CR HATCHERY	20,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Nulli Kelease	rrr	Total Poulla	Lue Stage	Release Site	Mark Type	raggeu

Memo: Seattle Schools

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: MINTER CR 15.0048

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	750	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	MINTER HATCHERY	750			EGGS GREEN

Estimated Release Data

built but but the fam keeds iii italii talid bug keeds bit mark iyp iagga	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
---	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

Memo: To approved list of SIC projects.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	16,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	SOOS CREEK HATCHERY	16,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Liiu Date	Tuili ittitast	111	I otal I otilu	Life Burge	release site	wark Type	I aggcu

Memo: Kent School District, Endeavour IS, Chief Sealth HS, SIC Programs.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Egg Take
Shipping
Receive 10,700
Planted

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	10,700			EGGS EYED

Estimated Release Data

Start Date End	d Date Num Rel	ease FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
----------------	----------------	----------	--------------------	------------	--------------	-----------	--------

Memo: For Seattle Schools, Duvall Christian, Holy Rosary, SIC Programs

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	250	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	250			EGGS EYED

Estimated Release Data

Start Date End	d Date Num Rel	ease FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
----------------	----------------	----------	--------------------	------------	--------------	-----------	--------

Memo: For SIC project at Central Elementary School.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	2,750	
Planted	250	
	Shipping Receive	Egg Take Shipping Receive 2,750

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2009	02/2009	MARBLEMOUNT HATCHERY	2,750			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	250			JUVENILE	LK CAMPBELL (SKAG)		

Memo: Mt. Erie Elem. See note for transfer from Marblemount.

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	12,000	1
Planted	5,000	10

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	WALLACE R HATCHERY	11,000			EGGS EYED
Received	04/2009	04/2009	WALLACE R HATCHERY	1,000	1,000.0	1	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	5,000	500.0	10	JUVENILE	PIGEON #1 07.1722		

Tuesday, July 22, 2008

REG 4 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: VOIGHT CR 10.0414

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Egg Take
Shipping
Receive 250
Planted

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2009	02/2009	VOIGHTS CR HATCHERY	250			EGGS EYED

Estimated Release Data

Start Date End	d Date Num Rel	ease FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
----------------	----------------	----------	--------------------	------------	--------------	-----------	--------

Memo: For SIC project at Keithley Middle School.

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: SKYKOMISH R -SF (07)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	300,000	12,000
Planted	250,000	41,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	WALLACE R HATCHERY	300,000	25.0	12,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	30,000	6.0	5,000	JUVENILE	SULTAN R 07.0881	AD	
05/2009	05/2009	30,000	6.0	5,000	JUVENILE	RAGING R 07.0384	AD	
05/2009	05/2009	30,000	6.0	5,000	JUVENILE	SNOQUALMIE R 07.0219	AD	
05/2009	05/2009	160,000	6.0	26,667	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo:

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	270,000	10,800
Planted	250,000	41,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	WALLACE R HATCHERY	270,000	25.0	10,800 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	15,000	6.0	2,500	JUVENILE	WALLACE R 07.0940	AD	
05/2009	05/2009	15,000	6.0	2,500	JUVENILE	SULTAN R 07.0881	AD	
05/2009	05/2009	35,000	6.0	5,833	JUVENILE	PILCHUCK R 07.0125	AD	
05/2009	05/2009	145,000	6.0	24,167	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2009	05/2009	40,000	6.0	6,667	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo:

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD **Run:** SUMMER

Stock: SKYKOMISH R -SF (07)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Total #	Total Pounds
950,000	
692,000	
300,000	12,000
220,000	36,667
	950,000 692,000 300,000

Estimated Brood Data

Egg Take Goal 950,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2009	01/2009	WHITEHORSE POND	112,000			EGGS GREEN
Shipped	03/2009	03/2009	SOOS CREEK HATCHERY	120,000			EGGS EYED
Shipped	03/2009	03/2009	WALLACE R HATCHERY	460,000			EGGS EYED
Received	10/2009	10/2009	WALLACE R HATCHERY	300,000	25.0	12,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	30,000	6.0	5,000	JUVENILE	RAGING R 07.0384	AD	
05/2010	05/2010	30,000	6.0	5,000	JUVENILE	SNOQUALMIE R 07.0219	AD	
05/2010	05/2010	160,000	6.0	26,667	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo:

REITER PONDS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	270,000	10,800
Planted	250,000	41,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	WALLACE R HATCHERY	270,000	25.0	10,800 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	15,000	6.0	2,500	JUVENILE	WALLACE R 07.0940	AD	
05/2010	05/2010	15,000	6.0	2,500	JUVENILE	SULTAN R 07.0881	AD	
05/2010	05/2010	35,000	6.0	5,833	JUVENILE	PILCHUCK R 07.0125	AD	
05/2010	05/2010	145,000	6.0	24,167	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2010	05/2010	40,000	6.0	6,667	JUVENILE	SKYKOMISH R 07.0012	AD	

Memo:

RFEG 1 NOOKSK/SAMISH

NOOKSACK/SAMISH REGIONAL ENHANCEMENT GROUP

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: WHATCOM CR 01.0566

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	100,000	
Planted	100,000	67

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	WHATCOM CR HATCHERY	100,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	100,000	1.500.0	67	JUVENILE	TERRELL CR 01.0089		

Memo: Trial period of 4 years starting BY 2004.

ROGER URBANIAK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: ISSAQUAH CR 08.0178

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Egg Take
Shipping
Receive 205,000
Planted 205,000 137

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	ISSAQUAH HATCHERY	205,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	10,000	1,500.0	7	JUVENILE	UNNAMED CR 08.0275		
03/2009	03/2009	5,000	1,500.0	3	JUVENILE	VALLEY CR 08.0270		
03/2009	03/2009	30,000	1,500.0	20	JUVENILE	KELSEY CR08.0259-R02		
03/2009	03/2009	80,000	1,500.0	53	JUVENILE	JUANITA CR 08.0230		
03/2009	03/2009	80,000	1,500.0	53	JUVENILE	LK WASHINGTON (KING)		

Memo: This project is part of the former 10 million salmon and Medina RSI. 10,000 to Medina, 80,000 to Cozy Cove.

SAMISH HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: SAMISH (FRIDAY CR)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	6,500,000	
Shipping	7,770,500	5,000
Receive	6,500,000	
Planted	4,000,000	50,000

Estimated Brood Data

Egg Take Goal 6,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2008	11/2008	GLENWOOD SPRINGS	270,000			EGGS EYED
Received	11/2008	11/2008	KENDALL CR HATCHERY	6,500,000			EGGS EYED
Shipped	11/2008	11/2008	KENDALL CR HATCHERY	6,500,000			EGGS EYED
Shipped	11/2008	11/2008	REG 4 ED COOPS	500			EGGS EYED
Shipped	03/2009	04/2009	LUMMI SEA PONDS	1,000,000	200.0	5,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	3,600,000	80.0	45,000	JUVENILE	SAMISH R 03.0005	AD	
05/2009	05/2009	200,000	80.0	2,500	JUVENILE	SAMISH R 03.0005	AD	✓
05/2009	05/2009	200,000	80.0	2,500	JUVENILE	SAMISH R 03.0005		✓

Memo: Otolith marks applied at Kendall Creek.

SEATTLE AQUARIUM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	2,000	80
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	SOOS CREEK HATCHERY	2,000	25.0	80 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Nulli Kelease	rrr	Total Poulla	Lue Stage	Release Site	Mark Type	raggeu

Memo: For display.

SEATTLE AQUARIUM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: MINTER CR 15.0048

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	45,000	
Shipping		
Receive		
Planted	40,000	100

Estimated Brood Data

Egg Take Goal 45,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	40.000	400.0	100	JUVENILE	ELLIOTT BAY 10A		

Memo: Spawn up to 15 pair of Chum returning to Aquarium from previous releases.

SEATTLE AQUARIUM

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	2,000	80
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	SOOS CREEK HATCHERY	2,000	25.0	80 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Nulli Kelease	rrr	Total Poulla	Lue Stage	Release Site	Mark Type	raggeu

Memo: For display.

SEATTLE POGGIE CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	54,000	3,600

Page 136

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Tuesday, July 22, 2008

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	54,000	15.0	3.600	JUVENILE	EAGLE CR 07.1416	AD	

Memo:

SEATTLE POGGIE CLUB

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	60,000	
Planted	54,000	3,600

Page 137

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	WALLACE R HATCHERY	60,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	54.000	15.0	3,600	JUVENILE	EAGLE CR 07.1416	AD	

Tuesday, July 22, 2008

SKAGIT SYSTEM COOP

SKAGIT SYSTEM COOPERATIVE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	100,000	4,000
Planted	100,000	4,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	MARBLEMOUNT HATCHERY	100,000	25.0	4,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2009	02/2009	100,000	25.0	4.000	JUVENILE	TELEGRAPH SLOUGH 03.0117	AD	

Memo: This is actually a direct plant. Previously it was a transfer to Swinomish Channel.

SKAGIT SYSTEM COOP

SKAGIT SYSTEM COOPERATIVE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKAGIT R 03.0176

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	100,000	4,000
Planted	100,000	4,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2010	02/2010	MARBLEMOUNT HATCHERY	100,000	25.0	4,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
02/2010	02/2010	100,000	25.0	4,000	JUVENILE	TELEGRAPH SLOUGH 03.0117	AD	

Memo: This is actually a direct plant. Previously it was a transfer to Swinomish Channel.

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2007

СОНО **Species:**

NA Stock: LUMMI BAY (SEA POND)

Brood Origin: HATCHERY Integrated/Segregated: SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	1,000,000	25,000
Receive		
Planted		

Estimated Brood Data

Egg Take Goal

Run:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2009	04/2009	LUMMI SEA PONDS	1,000,000	40.0	25,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type T	agged
Duit Duit	Liiu Dute	1 tuill itelease		I ottal I ottlia	Life Duige	release Site	Walk Lype I	usseu

Memo:

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKOOKUM CR 01.0273

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	1,000,000	66,667

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	950,000	15.0	63,333	JUVENILE	SKOOKUM CR 01.0273	AD	
05/2009	06/2009	50,000	15.0	3,333	JUVENILE	SKOOKUM CR 01.0273	AD	✓

Memo:

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: SPRING

Stock: NOOKSACK -SF 01.0246

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	240,000	
Shipping		
Receive		
Planted	200,000	2,000

Page 142

Estimated Brood Data

Egg Take Goal 240,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	200,000	100.0	2.000	JUVENILE	NOOKSACK -SF 01.0246		✓

Tuesday, July 22, 2008

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: LUMMI BAY (SEA POND)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	1,000,000	25,000
Receive	1,200,000	
Planted		

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	12/2008	LUMMI SEA PONDS	1,200,000			EGGS EYED
Shipped	04/2010	04/2010	LUMMI SEA PONDS	1,000,000	40.0	25,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	happeT
Start Date	Enu Date	Nulli Kelease	LLL	Total Foulid	Life Stage	Kelease Site	Mark Type	Tagged

SKOOKUM CR HATCHERY

LUMMI TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKOOKUM CR 01.0273

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	1,600,000	
Shipping		
Receive		
Planted	1,000,000	66,667

Estimated Brood Data

Egg Take Goal 1,600,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	06/2010	950,000	15.0	63,333	JUVENILE	SKOOKUM CR 01.0273	AD	
05/2010	06/2010	50,000	15.0	3,333	JUVENILE	SKOOKUM CR 01.0273	AD	✓

Memo:

SKY VALLEY SDA SCHL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	10,000	
Planted	10,000	20

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	WALLACE R HATCHERY	10,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	2,500	500.0	5	JUVENILE	WOODS CR 07.0884		
05/2009	05/2009	5,000	500.0	10	JUVENILE	WINTERS CR 07.0882		
05/2009	05/2009	2,500	500.0	5	JUVENILE	SKYKOMISH TRB 7.0065		

Memo: Released into Groeneveld Cr (WRIA 07).

SNOHOMISH SPORTSMEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	24,000	24
Planted	24,000	24

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	03/2009	WALLACE R HATCHERY	24,000	1,000.0	24 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	12,000	1,000.0	12	JUVENILE	PILCHUCK R 07.0125		
03/2009	03/2009	12,000	1,000.0	12	JUVENILE	SNOHOMISH R 07.0012		

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	832,000	11,280
Receive		
Planted	600,000	35,294

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	08/2008	08/2008	CRISP CR REARING PON	800,000	80.0	10,000	JUVENILE
Shipped	02/2009	02/2009	SEATTLE AQUARIUM	2,000	25.0	80	JUVENILE
Shipped	02/2009	02/2009	NWSSC - DES MOINES	30,000	25.0	1,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	510,000	17.0	30,000	JUVENILE	BIG SOOS CR 09.0072	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072	AD	<u>~</u>
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072		✓

Memo: Operated by the Muckleshoot Tribe. Currently funded for only 600,000 fish.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	4,500,000	
Shipping	322,000	3,200
Receive		
Planted	3,200,000	40,000

Estimated Brood Data

Egg Take Goal 4,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2008	11/2008	REG 4 ED COOPS	2,000			EGGS EYED
Shipped	04/2009	04/2009	ICY CR HATCHERY	320,000	100.0	3,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	2,800,000	80.0	35,000	JUVENILE	BIG SOOS CR 09.0072	AD	
06/2009	06/2009	200,000	80.0	2,500	JUVENILE	BIG SOOS CR 09.0072	AD	✓
06/2009	06/2009	200,000	80.0	2,500	JUVENILE	BIG SOOS CR 09.0072		✓

Memo:

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	1,925,000	
Shipping	1,084,000	11,342
Receive		
Planted	600,000	35,294

Estimated Brood Data

Egg Take Goal 1,925,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2008	01/2009	MARINE TECH CENTR	5,000			EGGS EYED
Shipped	12/2008	01/2009	NWSSC - DES MOINES	120,000			EGGS EYED
Shipped	12/2008	01/2009	CITY OF TUKWILA	80,000			EGGS EYED
Shipped	12/2008	01/2009	REG 4 ED COOPS	16,000			EGGS EYED
Shipped	03/2009	03/2009	WORDAN PROJECT	1,000	500.0	2	JUVENILE
Shipped	04/2009	04/2009	VASHON SPORTSMEN	30,000	500.0	60	JUVENILE
Shipped	08/2009	08/2009	CRISP CR REARING PON	800,000	80.0	10,000	JUVENILE
Shipped	02/2010	02/2010	SEATTLE AQUARIUM	2,000	25.0	80	JUVENILE
Shipped	02/2010	02/2010	NWSSC - DES MOINES	30,000	25.0	1,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	510,000	17.0	30,000	JUVENILE	BIG SOOS CR 09.0072	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072	AD	✓
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	BIG SOOS CR 09.0072		✓

Memo: Operated by the Muckleshoot Tribe. Currently funded for only 600,000 fish.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	75,000	3,083
Receive		
Planted	30,000	6,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	07/2008	07/2008	PALMER HATCHERY	50,000	50.0	1,000	JUVENILE
Shipped	12/2008	12/2008	ICY CR HATCHERY	25,000	12.0	2,083	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	30.000	5.0	6.000	JUVENILE	BIG SOOS CR 09.0072	AD	

Memo: Use locally adapted stock trapped at Soos, Palmer, and Keta Creek. Eggs transferred to Soos for incubation.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	270,000	5,883
Receive		
Planted	35,000	7,000

Page 151

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	07/2008	07/2008	PALMER HATCHERY	230,000	100.0	2,300	JUVENILE
Shipped	12/2008	12/2008	ICY CR HATCHERY	25,000	12.0	2,083	JUVENILE
Shipped	03/2009	03/2009	FLAMING GEYSER COOP	15,000	10.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	35,000	5.0	7,000	JUVENILE	BIG SOOS CR 09.0072	AD	

Tuesday, July 22, 2008

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: GREEN R NATIVE (9)

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	33,000	5,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	33,000	6.0	5,500	JUVENILE	BIG SOOS CR 09.0072	ADLV	

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD **Run:** SUMMER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	140,000	
Shipping	75,000	3,083
Receive		
Planted	30,000	6,000

Estimated Brood Data

Egg Take Goal 140,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	07/2009	07/2009	PALMER HATCHERY	50,000	50.0	1,000	JUVENILE
Shipped	12/2009	12/2009	ICY CR HATCHERY	25,000	12.0	2,083	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	30,000	5.0	6,000	JUVENILE	BIG SOOS CR 09.0072	AD	

Memo: Use locally adapted stock trapped at Soos, Palmer, and Keta Creek. Eggs transferred to Soos for incubation.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: SUMMER

Stock: SKYKOMISH R -SF (07)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	120,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2009	03/2009	REITER PONDS	120,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged

Memo: In case Green River adapted eggtake not met.

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: GREEN R ADAPTED (9)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	270,000	5,883
Receive	300,000	
Planted	35,000	7,000

Page 155

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	PALMER HATCHERY	300,000			EGGS GREEN
Shipped	07/2009	07/2009	PALMER HATCHERY	230,000	100.0	2,300	JUVENILE
Shipped	12/2009	12/2009	ICY CR HATCHERY	25,000	12.0	2,083	JUVENILE
Shipped	03/2010	03/2010	FLAMING GEYSER COOP	15,000	10.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	35,000	5.0	7,000	JUVENILE	BIG SOOS CR 09.0072	AD	

Tuesday, July 22, 2008

SOOS CREEK HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: GREEN R NATIVE (9)

Brood Origin: WILD

Integrated/Segregated: INTEGRATED

	Total #	Total Pounds
Egg Take	35,000	
Shipping		
Receive		
Planted	33,000	5,500

Estimated Brood Data

Egg Take Goal 35,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	33,000	6.0	5,500	JUVENILE	BIG SOOS CR 09.0072	ADRV	

Tuesday, July 22, 2008

SQUALICUM NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	5,000	200
Planted	5,000	333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	02/2009	02/2009	KENDALL CR HATCHERY	5,000	25.0	200 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	5.000	15.0	333	JUVENILE	SOUALICUM HARBOR	AD	

Memo: Part of Whatcom Creek program.

SQUALICUM NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	5,000	200
Planted	5,000	333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage	
Received	02/2010	02/2010	KENDALL CR HATCHERY	5,000	25.0	200 JUVENILE	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	5,000	15.0	333	JUVENILE	SOUALICUM HARBOR	AD	

Memo: Part of Whatcom Creek program.

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: STILLAGUAMISH R

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	50,000	2,778

Page 159

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Tuesday, July 22, 2008

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	50,000	18.0	2,778	JUVENILE	STILLAGUAMISH R -NF	AD	

Memo:

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK **Run:** SUMMER

Stock: STILLAGUAMISH R

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	300,000	
Shipping	225,000	1,125
Receive		
Planted		

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	03/2009	03/2009	WHITEHORSE POND	225,000	200.0	1,125 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	End Date	Nulli Kelease	LII	i otal i oullu	Life Stage	Nelease Site	Mark Type	Tagged

Tuesday, July 22, 2008

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: STILLAGUAMISH R

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	300,000	
Shipping	25,000	
Receive		
Planted	250,000	583

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped			STANWOOD HS(STANWOOD)	25,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	25,000	1,250.0	20	JUVENILE	SIBERIA CR 05.0324		
05/2009	05/2009	225,000	400.0	563	JUVENILE	STILLAGUAMISH R		

Memo:

STILLAGUAMISH HATCH

STILLAGUAMISH TRIBE

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: STILLAGUAMISH R

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take	70,000	
Shipping		
Receive		
Planted	50,500	2,780

Estimated Brood Data

Egg Take Goal 70,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	500	250.0	2	JUVENILE	STILLAGUAMISH R -SF		
05/2010	05/2010	50,000	18.0	2,778	JUVENILE	STILLAGUAMISH R	AD	

Memo:

TOAD CREEK PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	15,000	
Planted	15,000	10

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	01/2009	KENDALL CR HATCHERY	15,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	15,000	1.500.0	10	JUVENILE	TOAD CR 01.0560		

Memo: Remote Site Incubator Project.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	30,000	2,000
Planted	30,000	12,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	PUYALLUP HATCHERY	15,000	15.0	1,000	JUVENILE
Received	10/2008	10/2008	ARLINGTON HATCHERY	15,000	15.0	1,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	10,000	2.5	4,000	JUVENILE	SNOHOMISH CO LAKES		
04/2009	04/2009	20,000	2.5	8,000	JUVENILE	KING CO LAKES		

Memo: Must be held on pathogen free water.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CUTTHROAT **Run:** WESTSLOPE

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	2,000	2
Planted	2,000	3

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	07/2008	07/2008	CHELAN HATCHERY	2,000	900.0	2	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2008	08/2008	2,000	800.0	3	JUVENILE	REG 3 LAKES		

Memo: Size of Fry and Stockers dependent on time and sponsers pick ups. Region 3 High lakes only. Excess will be extirpated and disposed on site.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	6,000	
Planted	4,500	22

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	12/2008	FORD HATCHERY	6,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	4.500	205.0	22	JUVENILE	KING CO LAKES		

Memo: Triploid. Must be held on pathogen free water.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: GOLDEN TROUT

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	10,000	25
Planted	10,000	25

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	09/2008	09/2008	CHELAN HATCHERY	10,000	400.0	25 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2008	09/2008	10.000	400.0	25	JUVENILE	REG 4 LAKES		

Memo: High Lakes.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	14,000	28

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2008	09/2008	1,500	500.0	3	JUVENILE	REG 5 LAKES		
08/2008	09/2008	8,000	500.0	16	JUVENILE	REG 4 LAKES		
08/2008	09/2008	2,500	500.0	5	JUVENILE	REG 3 LAKES		
08/2008	09/2008	2,000	500.0	4	JUVENILE	REG 2 LAKES		

Memo: Parents must be 100% viral tested. High lake plants.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	40,000	40
Receive	92,000	2,000
Planted	40,000	12,100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	12/2008	GOLDENDALE HATCHERY	62,000			EGGS EYED
Shipped	02/2009	02/2009	ISSAQUAH HATCHERY	40,000	1,000.0	40	JUVENILE
Received	10/2009	10/2009	PUYALLUP HATCHERY	15,000	15.0	1,000	JUVENILE
Received	10/2009	10/2009	ARLINGTON HATCHERY	15,000	15.0	1,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	8,000	100.0	80	JUVENILE	SNOHOMISH CO LAKES		
05/2009	05/2009	2,000	100.0	20	JUVENILE	SNOHOMISH CO LAKES		
04/2010	04/2010	10,000	2.5	4,000	JUVENILE	SNOHOMISH CO LAKES		
04/2010	04/2010	20,000	2.5	8,000	JUVENILE	KING CO LAKES		

Memo: Must be held on pathogen free water.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	300,000	3,000
Receive		
Planted	190,000	38,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	08/2008	08/2008	WALLACE R HATCHERY	300,000	100.0	3,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	20,000	5.0	4,000	JUVENILE	RAGING R 07.0384	AD	
05/2009	05/2009	20,000	5.0	4,000	JUVENILE	TOLT R 07.0291	AD	
05/2009	05/2009	150,000	5.0	30,000	JUVENILE	SNOQUALMIE R 07.0219	AD	

Memo: Eggtake to be coordinated with other Chambers Creek stock facilities. May be used to backfill in-season.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: CUTTHROAT

Run: RESIDENT COASTAL **Stock:** TOKUL CR 07.0440

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	7,500	5
Planted	3,400	22

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	EELLS SPRINGS	4,000			EGGS EYED
Received	07/2009	07/2009	ARLINGTON HATCHERY	3,500	700.0	5	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	3,400	155.0	22	JUVENILE	REG 4 LAKES		

Memo: Must be held on pathogen free water.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	20,000	10
Planted	14,000	28

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2009	02/2009	EELLS SPRINGS	10,000			EGGS EYED
Received	06/2009	06/2009	ARLINGTON HATCHERY	10,000	1,000.0	10	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2009	09/2009	1,500	500.0	3	JUVENILE	REG 5 LAKES		
08/2009	09/2009	8,000	500.0	16	JUVENILE	REG 4 LAKES		
08/2009	09/2009	2,500	500.0	5	JUVENILE	REG 3 LAKES		
08/2009	09/2009	2,000	500.0	4	JUVENILE	REG 2 LAKES		

Memo: Parents must be 100% viral tested. High lake plants.

TOKUL CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	650,000	
Shipping	350,000	3,000
Receive		
Planted	190,000	38,000

Estimated Brood Data

Egg Take Goal 650,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	02/2009	02/2009	PUYALLUP HATCHERY	50,000			EGGS EYED
Shipped	08/2009	08/2009	WALLACE R HATCHERY	300,000	100.0	3,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	20,000	5.0	4,000	JUVENILE	RAGING R 07.0384	AD	
05/2010	05/2010	20,000	5.0	4,000	JUVENILE	TOLT R 07.0291	AD	
05/2010	05/2010	150,000	5.0	30,000	JUVENILE	SNOQUALMIE R 07.0219	AD	

Memo: Eggtake to be coordinated with other Chambers Creek stock facilities. May be used to backfill in-season.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: CHINOOK

Run: SUMMER

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	250,000	31,250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	-----------------	----------	--------	-----	-------------------------

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	150,000	8.0	18,750	JUVENILE	SKYKOMISH R 07.0012	AD	
04/2009	04/2009	100,000	8.0	12,500	JUVENILE	SKYKOMISH R 07.0012	AD	✓

Memo: This production is funded under the Recreational Fisheries Enhancement Bill passed by the 1993 legislature.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping	375,000	15,000
Receive		
Planted	150,000	8,824

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2009	01/2009	POSSESSION NET PENS	50,000	25.0	2,000	JUVENILE
Shipped	01/2009	01/2009	NWSSC-EVERETT N PEN	20,000	25.0	800	JUVENILE
Shipped	01/2009	02/2009	SOUTH SOUND NET PENS	305,000	25.0	12,200	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	60,000	17.0	3,529	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012	AD	\checkmark
05/2009	05/2009	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012		✓

Memo:

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: FALL

Stock: DESCHUTES R 13.0028

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	1,000,000	8,000
Receive	1,100,000	
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2008	12/2008	MINTER HATCHERY	1,100,000			EGGS EYED
Shipped	04/2009	05/2009	CAPITOL LK REARING	1,000,000	125.0	8,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	End Date	Nulli Kelease	rrr	i otal r oullu	Life Stage	Release Site	Mark Type	raggeu

Memo: 100% viral certified.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK **Run:** SUMMER

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	4,300,000	
Shipping	2,400,000	
Receive		
Planted	1,250,000	45,536

Estimated Brood Data

Egg Take Goal 4,300,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2009	09/2009	BERNIE GOBIN HATCH	2,400,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2009	06/2009	600,000	70.0	8,571	JUVENILE	SKYKOMISH R 07.0012	AD	
06/2009	06/2009	200,000	70.0	2,857	JUVENILE	SKYKOMISH R 07.0012	AD	✓
06/2009	06/2009	200,000	70.0	2,857	JUVENILE	SKYKOMISH R 07.0012		✓
04/2010	04/2010	150,000	8.0	18,750	JUVENILE	SKYKOMISH R 07.0012	AD	
04/2010	04/2010	100,000	8.0	12,500	JUVENILE	SKYKOMISH R 07.0012	AD	✓

Memo: This production is funded under the Recreational Fisheries Enhancement Bill passed by the 1993 legislature.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008 **Species:** COHO

Run: NA

Stock: SKYKOMISH R 07.0012

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take	4,500,000	
Shipping	3,791,070	15,725
Receive		
Planted	150,000	8,824

Estimated Brood Data

Egg Take Goal 4,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2008	10/2008	WSU RESEARCH (PULLMAN)	50	0.1	500	ADULT
Shipped	09/2008	10/2008	QUILCEDA TREATMENT PLANT	20	0.1	200	ADULT
Shipped	10/2008	10/2008	BERNIE GOBIN HATCH	1,600,000			EGGS GREEN
Shipped	10/2008	10/2008	MARBLEMOUNT HATCHERY	1,700,000			EGGS GREEN
Shipped	10/2008	11/2008	WSU RESEARCH (PULLMAN)	10,000			EGGS GREEN
Shipped	11/2008	11/2008	SEATTLE POGGIE CLUB	60,000			EGGS EYED
Shipped	11/2008	11/2008	SKY VALLEY SDA SCHL	10,000			EGGS EYED
Shipped	11/2008	11/2008	REG 4 ED COOPS	11,000			EGGS EYED
Shipped	03/2009	03/2009	SNOHOMISH SPORTSMEN	24,000	1,000.0	24	JUVENILE
Shipped	04/2009	04/2009	REG 4 ED COOPS	1,000	1,000.0	1	JUVENILE
Shipped	01/2010	01/2010	POSSESSION NET PENS	50,000	25.0	2,000	JUVENILE
Shipped	01/2010	01/2010	NWSSC-EVERETT N PEN	20,000	25.0	800	JUVENILE
Shipped	01/2010	02/2010	SOUTH SOUND NET PENS	305,000	25.0	12,200	JUVENILE

Memo:

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	60,000	17.0	3,529	JUVENILE	SKYKOMISH R 07.0012	AD	
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012	AD	✓
05/2010	05/2010	45,000	17.0	2,647	JUVENILE	SKYKOMISH R 07.0012		✓

Memo:

Tuesday, July 22, 2008

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: SKYKOMISH R -SF (07)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	300,000	12,000
Receive		
Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	10/2008	10/2008	REITER PONDS	300,000	25.0	12,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Tuili Kelease	LII	I otal I oullu	Life Stage	ixcicase bite	wiaik i ypc	Taggeu

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	270,000	10,800
Receive	300,000	3,000
Planted	20,000	3,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2008	08/2008	TOKUL CR HATCHERY	300,000	100.0	3,000	JUVENILE
Shipped	10/2008	10/2008	REITER PONDS	270,000	25.0	10,800	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	20,000	6.0	3.333	JUVENILE	WALLACE R 07.0940	AD	

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: CUTTHROAT

Run: RESIDENT COASTAL
Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping	2,000	100
Receive	20,000	80
Planted	15,000	750

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2009	05/2009	ARLINGTON HATCHERY	20,000	250.0	80	JUVENILE
Shipped	12/2009	12/2009	BERNIE GOBIN HATCH	2,000	20.0	100	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
11/2009	11/2009	8,000	20.0	400	JUVENILE	BLACKMANS LK (SNOH)		
11/2009	11/2009	7,000	20.0	350	JUVENILE	MARGARET LK (SNOH)		

Memo: Must be held on pathogen free water.

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD **Run:** SUMMER

Stock: SKYKOMISH R -SF (07)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	300,000	12,000
Receive	460,000	
Planted		

Page 183

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2009	03/2009	REITER PONDS	460,000			EGGS EYED
Shipped	10/2009	10/2009	REITER PONDS	300,000	25.0	12,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Duit	Liiu Dute	1 tuili iteleuse		I otal I otalia	Life Stage	itelease site	want Type	145504

WALLACE R HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: TOKUL CR 07.0440

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping	270,000	10,800
Receive	300,000	3,000
Planted	20,000	3,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2009	08/2009	TOKUL CR HATCHERY	300,000	100.0	3,000	JUVENILE
Shipped	10/2009	10/2009	REITER PONDS	270,000	25.0	10,800	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	20,000	6.0	3.333	JUVENILE	WALLACE R 07.0940	AD	

WHATCOM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: CHUM

Run: NA

Stock: WHATCOM CR 01.0566

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	2,500,000	
Shipping	2,600,000	
Receive	2,300,000	
Planted	2,000,000	2,500

Estimated Brood Data

Egg Take Goal 2,500,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2008	01/2009	KENDALL CR HATCHERY	2,500,000			EGGS GREEN
Shipped	12/2008	01/2009	RFEG 1 NOOKSK/SAMISH	100,000			EGGS EYED
Received	02/2009	02/2009	KENDALL CR HATCHERY	2,300,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	2,000,000	800.0	2,500	JUVENILE	WHATCOM CR 01.0566		

Memo:

WHATCOM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	40,000	1,600
Planted	40,000	8,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2008	10/2008	KENDALL CR HATCHERY	40,000	25.0	1,600 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	35,000	5.0	7,000	JUVENILE	SAMISH R 03.0005	AD	
05/2009	05/2009	5,000	5.0	1,000	JUVENILE	WHATCOM CR 01.0566	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

WHATCOM CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: KENDALL CR 01.0406

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	40,000	1,600
Planted	40,000	8,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2009	10/2009	KENDALL CR HATCHERY	40,000	25.0	1,600 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	35,000	5.0	7,000	JUVENILE	SAMISH R 03.0005	AD	
05/2010	05/2010	5,000	5.0	1,000	JUVENILE	WHATCOM CR 01.0566	AD	

Memo: Parents must be 100% viral tested. Eggs/Fish must be held on isolated pathogen free water.

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive		
Planted	17,000	8,500

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	8,500	2.0	4,250	JUVENILE	SNOHOMISH CO LAKES		
03/2009	03/2009	8,500	2.0	4,250	JUVENILE	ISLAND CO LAKES		

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: CHINOOK

Run: SUMMER

Stock: STILLAGUAMISH R

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	225,000	1,125
Planted	220,000	2,444

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	03/2009	STILLAGUAMISH HATCH	225,000	200.0	1,125 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	220,000	90.0	2,444	JUVENILE	STILLAGUAMISH R -NF	AD	✓

Memo:

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	20,000	333
Planted	17,000	8,500

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	06/2009	06/2009	ARLINGTON HATCHERY	20,000	60.0	333 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2010	03/2010	8,500	2.0	4,250	JUVENILE	SNOHOMISH CO LAKES		
03/2010	03/2010	8,500	2.0	4,250	JUVENILE	ISLAND CO LAKES		

Tuesday, July 22, 2008	Page 190
------------------------	-----------------

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: SUMMER

Stock: SKYKOMISH R -SF (07)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	112,000	
Planted	90,000	11,250

Estimated Brood Data

Egg Take Goal

Memo:

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2009	01/2009	REITER PONDS	112,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	70,000	8.0	8,750	JUVENILE	STILLAGUAMISH R -NF	AD	
04/2009	04/2009	20,000	8.0	2,500	JUVENILE	STILLAGUAMISH R -SF	AD	

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2008

Species: STEELHEAD

Run: WINTER

Stock: STILLAGUAMISH R

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	225,000	
Shipping		
Receive		
Planted	150,000	25,000

Estimated Brood Data

Egg Take Goal 225,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
--------------------	------------	----------	----------	--------	-----	-------------------------

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	140,000	6.0	23,333	JUVENILE	STILLAGUAMISH R -NF	AD	
05/2009	05/2009	10,000	6.0	1,667	JUVENILE	PILCHUCK CR 05.0062	AD	

Memo: Exact planting allotments at the discretion of Fish Management.

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: SUMMER

Stock: SKYKOMISH R -SF (07)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	112,000	
Planted	90,000	11,250

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2010	01/2010	REITER PONDS	112,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2010	04/2010	5,000	8.0	625	JUVENILE	CANYON CR 05.0359		
04/2010	04/2010	70,000	8.0	8,750	JUVENILE	STILLAGUAMISH R -NF	AD	
04/2010	04/2010	15,000	8.0	1.875	JUVENILE	STILLAGUAMISH R -SF	AD	

Memo:

WHITEHORSE POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

NORTH PUGET SOUND

Brood Year: 2009

Species: STEELHEAD

Run: WINTER

Stock: STILLAGUAMISH R

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

	Total #	Total Pounds
Egg Take	225,000	
Shipping		
Receive		
Planted	150,000	25,000

Estimated Brood Data

Egg Take Goal 225,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Simple of Livesia	20020			1 1000000		100011001100 2110000

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2010	05/2010	140,000	6.0	23,333	JUVENILE	STILLAGUAMISH R -NF	AD	
05/2010	05/2010	10,000	6.0	1,667	JUVENILE	PILCHUCK CR 05.0062	AD	

Memo: Exact planting allotments at the discretion of Fish Management.

WORDAN PROJECT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

NORTH PUGET SOUND

Brood Year: 2008

Species: COHO

Run: NA

Stock: BIG SOOS CR 09.0072

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

	Total #	Total Pounds
Egg Take		
Shipping		
Receive	1,000	2
Planted	1,000	2

Page 195

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	03/2009	03/2009	SOOS CREEK HATCHERY	1,000	500.0	2 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2009	03/2009	1.000	500.0	2	JUVENILE	LTL SOOS CR 09.0092		